Backrests and Hardware

w/ Fold Down Side Guards

Back Frame Shown for

Reference Only

Seat Frame Shown for

Reference Only

N



Backrests and Hardware

w/ Fold Down Side Guards

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1114097-NLA | NLA - Kit, Fold Down Back Mounting Hardware with 1 1
Side Guards
2 1114087-NLA | NLA - Guard, Side, Folding, Black 1 2
3 1114084-NLA | NLA - Bracket, Support Back, Black -Right 1 1
3 1114085-NLA | NLA - Bracket, Support Back, Black -Left 1 1
4 1116005-NLA | NLA - Bracket, Latch, Black 1 2
5 1114099 NLA - Screw, Hex Head (1/4-28 x 2") 1 8
6 1114077-NLA | NLA - Latch, Torsion Spring - Right 1 1
6 1114078-NLA | NLA - Latch, Torsion Spring - Left 1 1
7 40157X020 Spacer, Coved (1/4 x 1 x 9/16") 1 4
8 1040776-NLA | NLA - Spacer, Nylon (1/4 x 1 x 1/4") 1 4
9 1026907 Washer (1/4 x 1/2 x 1/16") 1 14
10 1025765 Locknut (1/4-28) 1 10
11 1025728 Washer (1/4 x 1/2 x 1/32") 1 2
12 1026162 Spacer (1/4 x 3/8 x 11/32") 1 4
14 1058636-NLA | NLA - Washer, Nylon (25/64 x 7/8 x 1/32") 1 2
15 1039233 Spacer (1/4 x 7/16 x 5/8") 1 2
16 1039232-NLA | NLA - Cam, Adjustment 1 2
17 1071496-NLA | NLA - Pin, Roll (3/16 x 3/4") 1 2
18 1108477-NLA | NLA - Washer, Nylon (1/4 x 3/4 x 5/8") 1 4
19 1012371 Washer, Nylon (3/8 x 7/8 x 1/16") 1 2
20 1141633 Cord, Nylon (6-1/2 ft.) 1 1
21 1045495-NLA | NLA - Screw, Set Socket (1/4-20 x 1/4™) 1 2
22 See Chart #22 - One Piece Backrest Frame 1 1
23 See Chart #23 - Upright Tube 1 2
24 See Chart #24 - Backrest Crossmember 1 1
NOTE: A -Includes items 2 - 20.
#22 - One Piece Backrest Frame
Chair Width 8-11" High 10-14" High 12-16" High 14-18" High 16-20" High
12" 1071788-NLA 1071789-NLA 1071790-NLA 1071791-NLA 1071792-NLA
13" 1071793-NLA 1071794-NLA 1071795-NLA 1071796-NLA 1071797-NLA
14" 1024706-NLA 1026188-NLA 1042982-NLA 1026757-NLA 1026764-NLA
15" 1024707-NLA 1026189-NLA 1042986-NLA 1026758-NLA 1026765-NLA
16" 1024708-NLA 1026190-NLA 1042987-NLA 1026759-NLA 1026766-NLA
17" 1024709-NLA 1026191-NLA 1042988-NLA 1026760-NLA 1026767-NLA
18" 1024710-NLA 1026192-NLA 1042989-NLA 1026761-NLA 1026768-NLA
19" 1024711-NLA 1026193-NLA 1042990-NLA 1026762-NLA 1026769-NLA
20" 1024712-NLA 1026194-NLA 1042991 1026763-NLA 1026770-NLA
21" 1082654-NLA 1082952-NLA 1082953-NLA 1082954-NLA 1082955-NLA

22"

1082956-NLA

1082957-NLA

1082958-NLA

1082959-NLA

1082960-NLA




Backrests and Hardware

w/ Fold Down Side Guards

#23 - Upright Tube

Back Height

8 - 11" High

10 - 14" High

12 - 16" High

14 - 18" High

15 - 19" High

Part Number

1042514-NLA

1042513-NLA

1043358

1042515-NLA

1052226-NLA




Backrests and Hardware
w/ Fold Down Side Guards

#24 - Backrest Crossmember

Chair Width Part Number Chair Width Part Number
12" Wide 1042508-NLA 18"W 1050080
13" Wide 1042509-NLA 19"W 1050077
14" Wide 1042510 20" W 1050074
15" Wide 1042511 21"W 1085292-NLA
16" Wide 1042512 22" W 1085293-NLA
17" Wide 1050083




